J17134+0747: J1713+0747_59309.037717_500.rfiClean.fits

BC P(ms)= 4.569873375 TC P(ms)= 4.569755702 DM= 15.991 RAJ= 00:00:00.00 DecJ= 00:00:00.0

BC MJD = 59309.051940 Centre freq(MHz) = 399.609 Bandwidth(MHz) = —200 | = 96.337 b = —60.189

NBin = 128 NChan = 64 NSub = 331 TBin(ms) = 0.036 TSub(s) = 1.212 TSpan(s) 3300.080

P(us): offset = 0.00000, step = 0.00005, range = 0.13464 DM: offset = 0.000, step = 0.001, range = 0.088
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Pulse Phase Pulse Phase
BC prd (ms): 4569873326 TC prd (ms): 4569755653  DM: 15.989  BC freq (Hz): 018.824446271
Corrn (ms): —0.000000049 Corrn (ms): —0.000000049 Corrn: —0.002 Freq err. (Hz): 0.000003553
Error (ms): 0.000000074  Error (ms): 0.000000074 Error: 0.002 Width (ms): 0.464
Best S/N: 195.42
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J17134+0747: J1713+0747_59348.904519_500.rfiClean.fits

BC P(ms)= 4.570465303 TC P(ms)= 4.570098502 DM= 15.991 RAJ= 00:00:00.00 DecJ= 00:00:00.0

BC MJD = 59348.920884 Centre freq(MHz) = 399.219 Bandwidth(MHz) = —200 | = 96.337 b = —60.189

NBin = 128 NChan = 64 NSub = 330 TBin(ms) = 0.036 TSub(s) = 9.602 TSpan(s) 3299.604

P(us): offset = 0.00000, step = 0.00005, range = 0.01699 DM: offset = 0.000, step = 0.001, range = 0.088
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BC prd (ms): 4570465253  TC prd (ms): 4570098453  DM: 15.987 BC freq (Hz): 218.796105988
Corrn (ms): —0.000000049 Corrn (ms): —0.000000049 Corrn: —0.004 Freq err. (Hz): 0.000003569
Error (ms): 0.000000075 Error (ms): 0.000000075  Error: 0.002 Width (ms): 0.143
Best S/N: 83.43
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J17134+0747: J1713+0747_59309.037607_1460.rfiClean.fits

BC P(ms)= 4.569873379 TC P(ms)= 4.569755706 DM= 15.991 RAJ= 00:00:00.00 DecJ= 00:00:00.0

BC MJD = 59309.051902 Centre freq(MHz) = 1360.098 Bandwidth(MHz) = —200 | = 96.337 b = —60.189
NBin = 64 NChan = 64 NSub = 332 TBin(ms) = 0.071 TSub(s) = 10.000 TSpan(s) = 3311.040

P(us): offset = 0.00000, step = 0.00010, range = 0.03263 DM: offset = 0.000, step = 0.054, range = 6.926
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Pulse Phase Pulse Phase
BC prd (ms): 4569873280 TC prd (ms): 4569755607 DM: 15.937 BC freq (Hz): 018.824448456
Corrn (ms): —0.000000099 Corrn (ms): —0.000000099 Corrn: —0.054 Freq err. (Hz): 0.000007102
Error (ms): 0.000000148 Error (ms): 0.000000148 Error: 0.165 Width (ms): 0.214
Best S/N: 579.24
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J17134+0747: J1713+0747_59348.904400_1460.rfiClean.fits

BC P(ms)= 4.570465303 TC P(ms)= 4.570098503 DM= 15.991 RAJ= 00:00:00.00 DecJ= 00:00:00.0

BC MJD = 59348.920840 Centre freq(MHz) = 1360.098 Bandwidth(MHz) = —200 | = 96.337 b = —60.189
NBin = 64 NChan = 64 NSub = 332 TBin(ms) = 0.071 TSub(s) = 9.846 TSpan(s) = 3312.494

P(us): offset = 0.00000, step = 0.00010, range = 0.03314 DM: offset = 0.000, step = 0.054, range = 6.927
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Pulse Phase Pulse Phase
BC prd (ms): 4570465205 TC prd (ms): 4570098404 DM: 15.884 BC freq (Hz): 218.796108308
Corrn (ms): —0.000000099 Corrn (ms): —0.000000099 Corrn: —0.107 Freq err. (Hz): 0.000007106
Error (ms): 0.000000148 Error (ms): 0.000000148 Error: 0.165 Width (ms): 0.214
Best S/N: 228.43
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